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Identify the class interval table for the given histogram and frequency polygon on the same graph.

Freguenpcy e—>

(i)

(if)

(i

(iv

)

)

Class-Interval s———

Class-Interval |34 - 43|43 -52|52-61|61-70(70-79|79-88|88-97
Frequency 10 62 62 31 49 37 40
Class-Interval |34 - 43|43 -52|52-61|61-70|70-79|79-88|88-97
Frequency 10 40 62 31 49 37 62
Class-Interval |34 - 43|43 -52|52-61|61-70(70-79|79-88|88-97
Frequency 10 62 62 28 49 37 40
Class-Interval |34 - 43|43 -52|52-61|61-70|70-79|79-88|88-97
Frequency 10 62 60 31 49 37 40




Given the number of doctors working in government hospitals in a city in various age groups. Identify the class
" interval table for the given histogram and frequency polygon on the same graph.

No. of doctors
L
Ln

Ln

Age (in years) s———n

Age (in years) |31-36|36-41|41-46|46-51|51-56|56-61|61-66

i
(M No. of doctors 46 25 46 13 40 11 41

Age (in years) |31-36|36-41(41-46|46-51|51-56|56-61|61-66

ii
(i No. of doctors 46 46 29 13 40 11 41

Age (in years) [31-36|36-41(41-46|46-51|51-56|56-61|61-66
No. of doctors 46 46 25 15 40 11 41

(iii)

Age (in years) |31-36|36-41|41-46|46-51|51-56|56-61|61-66

iv
(iv) No. of doctors 46 41 25 13 40 11 46

Age (in years) ([31-36|36-41|41-46|46-51|51-56|56-61|61-66

v) No. of doctors 46 46 25 13 40 11 41




Given below is the cost of living index for a particular year in a city. Identify the class interval table for the given

" histogram and frequency polygon on the same graph.

No. of weeks

(i)

(if)

(iii)

(iv)

(v)

Y
4
—20
—18
—16
—14
—12
—10 9 9
—=8
—6
|
2
—-X
1[|J5 112 11|9 12|5 13|3 14|LU 1-'%|L]' 15|n4
Cost of living index {in rupees) s———n
Cost of living index (in rupees) | 112 -119|119-126|126 - 133|133 - 140|140 - 147
No. of weeks 9 6 9 8 5
Cost of living index (in rupees) (112 -119|119-126|126 - 133|133 - 140|140 - 147
No. of weeks 9 10 9 8 5
Cost of living index (in rupees) | 112 -119|119-126|126 - 133|133 - 140|140 - 147
No. of weeks 9 6 12 8 5
Cost of living index (in rupees) (112 -119|119-126 126 - 133|133 - 140|140 - 147
No. of weeks 9 5 9 8 6
Cost of living index (in rupees) | 112 -119|119-126|126- 133|133 - 140|140 - 147
No. of weeks 9 9 6 8 5




4. ldentify the class interval table for the given histogram and frequency polygon on the same graph.

Frequency e—e2
|
s 8

X
135 215 295 375 455 535 615 695 775 855

Class-Interval e———a

Class-Interval |22 - 29|30-37|38-45|46-53|54-61|62-69|70-77

i
M Frequency 15 41 58 79 72 38 48

Class-Interval (22 -29|30-37|38-45|46-53|54-61|62-69|70-77
Frequency 15 58 48 79 72 38 41

(if)

Class-Interval |22 -29|30-37|38-45|46-53|54-61|62-69|70-77

iii
(i) Frequency 15 48 58 79 72 38 41

Class-Interval (22 -29|30-37|38-45|46-53|54-61|62-69|70-77
Frequency 15 48 58 83 72 38 41

(iv)

Class-Interval |22 - 29|30-37|38-45|46-53|54-61|62-69|70-77

%
V) Frequency 15 48 62 79 72 38 41




Given the number of doctors working in government hospitals in a city in various age groups. Identify the class
" interval table for the given histogram and frequency polygon on the same graph.

¥
A
50
45
40
36 36
—35
Y30
=t
(=]
S |25
‘s
S 20
15
—10
5 \
% ~n
—- X
155 245 335 425 515 605 695 785
Age (in years) s——an
(i Age (in years) [25-33|34-42|43-51|52-60|61-69
i
No. of doctors 12 23 32 36 27

Age (in years) |25-33|34-42|43-51|52-60|61-69

[ No. of doctors| 12 21 36 36 27

Age (in years) [25-33|34-42|43-51(52-60|61-69

(D) No. of doctors| 12 23 36 36 27

Age (in years) |25-33|34-42|43-51|52-60|61-69

iv
(iv) No. of doctors| 12 27 36 36 23

Age (in years) |25-33|34-42|43-51|52-60|61-69

v
v) No. of doctors 12 36 23 36 27




Given below is the cost of living index for a particular year in a city. Identify the class interval table for the given

" histogram and frequency polygon on the same graph.

No. of weeks

10

10

> X
162.5 169.5 176.5 183.5 1905 1975 204.5 2115

(i)

(if)

(iii)

(iv)

Cost of living index {in rupees) s———n
Cost of living index (in rupees) |170-176|177 - 183|184 -190|191 -197|198 - 204
No. of weeks 6 10 5 10 5
Cost of living index (in rupees) |170-176|177 - 183|184 - 190|191 - 197|198 - 204
No. of weeks 6 5 9 10 10
Cost of living index (in rupees) |170 - 176|177 - 183|184 -190|191 - 197|198 - 204
No. of weeks 6 5 5 10 10
Cost of living index (in rupees) (170 - 176|177 - 183|184 - 190|191 - 197|198 - 204
No. of weeks 6 10 5 10 10




Heights of 159 students (in cm) are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

Y

No, of students

118 [ 125 | 132 [ 139 [ 146 | 153 | 160 | 167 |

17

(i)

(if)

(iii)

(iv)

(v)

Height (in

cm)

Height (in cm)

125-132

132-139

139 - 146

146 - 153

153 -160

160 - 167

No. of students

20

23

14

30

47

25

Height (in cm)

125-132

132-139

139 - 146

146 - 153

153 -160

160 - 167

No. of students

20

14

23

30

47

25

Height (in cm)

125-132

132-139

139 - 146

146 - 153

153 -160

160 - 167

No. of students

20

23

14

25

47

25

Height (in cm)

125-132

132-139

139 - 146

146 - 153

153 -160

160 - 167

No. of students

20

25

14

30

47

23

Height (in cm)

125-132

132-139

139 - 146

146 - 153

153 -160

160 - 167

No. of students

20

23

17

30

47

25




Heights of 93 students (in cm) are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

Y

No, of students

o /

f

118.5

11285140.5/151.5]

162.5/173.5]

N

1845

1955

(i)

(ii)

(iii)

(iv)

(v)

Height (in cm)

— =y

Height (in cm)

130 - 140

141 - 151

152 -162

163 -173

174 - 184

No. of students

41

15

8

25

7

Height (in cm)

130 - 140

141 -151

152 - 162

163-173

174 - 184

No. of students

41

5

15

25

7

Height (in cm)

130 - 140

141 - 151

152 - 162

163-173

174 - 184

No. of students

41

12

5

25

7

Height (in cm)

130 - 140

141 - 151

152 - 162

163-173

174 - 184

No. of students

41

7

5

25

15

Height (in cm)

130 - 140

141 - 151

152 - 162

163-173

174 - 184

No. of students

41

15

5

25

7




Heights of 172 plants (in cm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of plants
&
(=)

Height (in cm) s——3

Height (in cm) |57 -63|63-69(69-75|75-81|81-87(87-93
No. of plants 39 18 44 45 10 16

(i)

Height (in cm) |57 - 63|63 -69|69-75|75-81|81-87|87-93
No. of plants 39 44 18 45 10 16

(if)

Height (in cm) |57 -63|63-69|69-75|75-81|81-87|87-93
No. of plants 39 44 22 45 10 16

(iii)

Height (in cm) |57 -63|63-69|69-75|75-81|81-87|87-93
No. of plants 39 44 18 49 10 16

(iv)

Height (in cm) |57 -63|63-69|69-75|75-81|81-87|87-93
No. of plants 39 16 18 45 10 44

(v)




Heights of 115 plants (in cm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

Mo, of plants
&
]

4251515 |605]695 785|875 | 96,5 (1055

Height {in cm) e——a—

Height (incm) |52 -60|61-69|70-78|79-87|88-96
No. of plants 8 27 20 50 10

(i)

Height (in cm) |52 -60|(61-69|70-78|79-87|88-96
No. of plants 8 10 27 50 20

(i)

Height (incm) |52 -60(61-69|70-78|79-87|88-96

iii
(i No. of plants 8 20 32 50 10

Height (in cm) |52 -60(61-69|70-78|79-87|88-96
No. of plants 8 18 27 50 10

Height (incm) |52 -60|61-69|70-78|79-87|88-96
No. of plants 8 20 27 50 10




Ages of 242 students (in years) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of studenis

Age (in years) e—sx

Age (in years) |12-20(20-28|28-36(36-44|44-52|52-60|60-68|68-76

M No. of students 16 26 28 45 41 40 41 5

Age (in years) (12-20|20-28|28-36|36-44|44-52|52-60|60-68|68-76

ii
(i) No. of students 16 5 45 28 41 40 41 26

Age (in years) |12-20|20-28|28-36|36-44|44-52|52-60|60-68|68-76

() No. of students| 16 5 28 45 41 40 a1 26

Age (in years) |12-20(20-28|28-36|36-44|44-52|52-60|60-68(68-76
No. of students 16 5 28 45 36 40 41 26

(iv)

Age (in years) |12-20(20-28|28-36(36-44|44-52|52-60|60-68|68-76

v
v) No. of students 16 5 32 45 41 40 41 26




Ages of 143 students (in years) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of students
v
L]

[

15| 95 [ 205 [31.5 425535645755 [865 975

Age (in years) s——ap

Age (in years) |10-20|21-31|32-42|43-53|54-64|65-75|76-86

@) "No. of students| 26 35 21 8 43 5 5

Age (in years) |10-20(21-31(32-42|43-53|54-64|65-75|76-86
No. of students 26 5 21 8 43 5 35

(ii)

Age (in years) [10-20(21-31|32-42(43-53|54-64|65-75|76-86

iii
(i) No. of students| 26 21 35 8 43 5 5

Age (in years) |10-20(21-31(32-42|43-53|54-64|65-75|76-86
No. of students 26 35 23 8 43 5 5

(iv)

Age (in years) |10-20|21-31|32-42|43-53|54-64|65-75|76-86

™) "'No. of students| 26 35 21 6 43 5 5




Scores of 199 students are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No, of studenis

(i)

(if)

(iii)

(iv)

Y
100
|
|
----- 90
|
[
----- 80
|
[
----- 70
|
|
----- 60
|
[
----- 50
|
[
40
|
5
| /
_____ 20 \
|
|
----- 10
i
8185 __9:_L.__ __95.__ 101 | 106 __.111__ 116 __.121_ 1261131 |
35 ) i i st e B i s mpe 2 i
SCOME St
Score 86-91|/91-96/96-101(101-106(106-111(111-116(116-121|121-126
No. of students 21 20 24 24 25 24 42 19
Score 86-91(91-96(96-101/101-106|106-111|111-116|116-121|121-126
No. of students 21 20 24 24 29 24 42 19
Score 86-91/91-96/96-101|101-106|106-111|111-116(116-121(121-126
No. of students 21 20 28 24 25 24 42 19
Score 86-91(91-96(96-101/101-106/106-111|111-116|116-121|121-126
No. of students 21 19 24 24 25 24 42 20




Scores of 184 students are given below.

" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No, of students

(i)

(if)

(iii)

(iv)

Y
-100
|
|
----- 90
|
|
----- 80
|
[
----- 70
|
|
----- 60
|
|
----- 50
|
|
----- 30
|
|
----- 20
|
|
----- 10
s Y lax
815 88.5] 955 11025{109.5{116.5{123.5{130.5| |
bl e e e ]
SCOre sty
Score 89-95|96-102/103-109/110-116|117 -123
No. of students 34 40 32 46 32
Score 89-95(96-102|103-109|110-116|117 -123
No. of students 34 32 30 46 40
Score 89-95/96-102(103-109|110-116|117-123
No. of students 34 32 32 46 40
Score 89-95/96-102|103-109|110-116|117 -123
No. of students 34 27 32 46 40




Rainfall of 108 days (in mm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

Rainfall (in mm) s————

Rainfall (in mm) |11-19(19-27|27-35|35-43(43-51|51-59
No. of days 38 17 20 9 7 17

(i)

Rainfall (in mm)|11-19|19-27|27-35|35-43|43-51|51-59
No. of days 38 17 17 9 7 20

(if)

Rainfall (in mm) |11-19|19-27|27-35|35-43|43-51|51-59
No. of days 38 20 14 9 7 17

(iii)

Rainfall (in mm)|11-19|19-27|27-35|35-43|43-51|51-59
No. of days 38 20 17 9 7 17

(iv)

Rainfall (in mm)|11-19(19-27|27-35|35-43|43-51|51-59
No. of days 38 20 17 12 7 17




Rainfall of 162 days (in mm) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

_____ | I ' \
10 i \

-15 [ 45 1051165 | 225 | 285 |34.5 (405 [405

Rainfall (in mm) s————

Rainfall (in mm) |5-10|11-16|17-22|23-28(29-34|35-40
No. of days 46 16 28 15 14 43

(i)

Rainfall (in mm)|5-10(11-16|17-22|23-28|29-34|35-40
No. of days 46 28 16 15 14 43

(if)

Rainfall (in mm) |[5-10(11-16(17-22(23-28|29-34|35-40
No. of days 46 43 28 15 14 16

(iii)

Rainfall (in mm) | 5-10(11-16|17-22|23-28|29-34|35-40
No. of days 46 16 28 17 14 43

(iv)

Rainfall (in mm) |5-10|11-16|17-22|23-28(29-34|35-40
No. of days 46 16 33 15 14 43

(v)




Temperatures of 166 days (in °C) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

273543 Bl RS BT TS 8391
| i ; . |. ; . {

Temperature (in degree} s———

Temperature (in degree) |35-43(43-51(51-59|59-67|67-75|75-83
No. of days 38 43 39 9 11 26

(i)

Temperature (in degree) |35-43|43-51(51-59(59-67|67-75|75-83
No. of days 38 39 43 9 11 26

(if)

Temperature (in degree) |35-43(43-51(51-59|59-67|67-75|75-83
No. of days 38 43 37 9 11 26

(iii)

Temperature (in degree) |35-43|43-51|51-59(59-67|67-75|75-83
No. of days 38 26 39 9 11 43

(iv)

Temperature (in degree) |35-43(43-51(51-59|59-67|67-75|75-83
No. of days 38 43 39 5 11 26




Temperatures of 215 days (in °C) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No. of days

\

265|325 385 144.5]505 /56,5625 | 685745805865

Temperature (in degree) s——a2p

Temperature (in degree) |33 -38|39-44|45-50|51-56|57-62|63-68|69-74|75-80

W No. of days 6 29 40 30 48 11 22 34

Temperature (in degree) |33 -38|39-44(45-50(51-56|57-62|63-68|69-74|75-80

ii
(i No. of days 6 29 30 35 48 11 22 34

(i) Temperature (in degree) |33 -38(39-44|45-50|51-56|57-62|63-68|69-74|75-80
iii

No. of days 6 29 35 30 50 11 22 34

Temperature (in degree) |33 -38|39-44|45-50(51-56|57-62|63-68|69-74|75-80

(iv)

No. of days 6 29 35 30 48 11 22 34

Temperature (in degree) |33 -38|39-44|45-50|51-56|57-62|63-68|69-74|75-80

%
W) No. of days 6 34 35 30 48 11 22 29




Weights of 206 students (in kg) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of studenis

1110

Weight (in kg) e——s

Weight (in kg) (56-62(62-68|68-74|74-80(80-86|86-92|92-98|98-104
No. of students 25 12 16 21 15 26 43 48

Weight (in kg) |56 -62|62-68|68-74|74-80|80-86|86-92|92-98|98-104
No. of students | 25 48 21 16 15 26 43 12

(if)

Weight (in kg) [56-62(62-68|68-74|74-80(80-86|86-92|92-98|98-104

() o of students| 25 12 21 16 20 26 43 48

Weight (in kg) [56-62|62-68|68-74|74-80/80-86(86-92|92-98|98-104
No. of students 25 12 18 16 15 26 43 48

(iv)

Weight (in kg) |56 -62|62-68|68-74|74-80/80-86|86-92|92-98|98-104

\Y;
v) No. of students 25 12 21 16 15 26 43 48




Weights of 253 students (in kg) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.
Y

No, of studenis

| | Rk \i
""" T i A

4451505565625 685|745 805865925 ]9851045

Weight (in kg) s————n

Weight (in kg) |51-56(57-62|63-68|69-74|75-80|81-86|87-92(93-98
No. of students 27 29 43 22 7 28 47 50

(i)

Weight (in kg) (51-56|57-62|63-68|69-74|75-80|81-86(87-92(93-98
No. of students 27 29 43 22 5 28 47 50

(ii)

Weight (in kg) |[51-56(57-62|63-68|69-74|75-80|81-86|87-92|93-98

() No. of students| 27 50 43 22 7 28 47 29

Weight (in kg) [51-56|57-62|63-68|69-74|75-80|81-86|87-92|93-98
No. of students 27 29 22 43 7 28 47 50

(iv)

Weight (in kg) [51-56|57-62|63-68|69-74|75-80|81-86|87-92|93-98

\Y;
v) No. of students 27 29 40 22 7 28 47 50




Daily wages of 180 labourers (in X) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

No. of labourers

(i)

(if)

(iii)

(iv)

(v)

kg
-100
|
|
----- 90
|
i
----- 80
|
|
----- 70
|
|
----- 60
|
|
----- 50
|
|
a0
[
|
----- 30
|
..... bo
| /
----- 10
/ .
VNP
E4____294_ _304_ _314_ _324_ _334____344____354_ _354_ _374____384__ _____
B R R e e el
Daily wage(in R5) e——a—2p
Daily wage(in Rs) | 294 - 304|304 - 314|314 - 324|324 - 334|334 - 344|344 - 354|354 - 364 | 364 - 374
No. of labourers 35 35 22 13 9 14 32 20
Da“yr‘{"_ﬁ;ge““ 294 - 304|304 - 314|314 - 324|324 - 334|334 - 344 | 344 - 354 | 354 - 364 | 364 - 374
No. of labourers 35 20 13 22 9 14 32 35
Da“yi‘{"'sa;ge(i“ 294 - 304|304 - 314|314 - 324|324 - 334|334 - 344 | 344 - 354 | 354 - 364 | 364 - 374
No. of labourers 35 35 13 22 5 14 32 20
Da"yl‘{’s";ge““ 294 - 304|304 - 314|314 - 324|324 - 334|334 - 344|344 - 354|354 - 364 | 364 - 374
No. of labourers 35 35 13 22 9 14 32 20
Dai'yr‘("s?ge(i“ 294 - 304|304 - 314|314 - 324|324 - 334|334 - 344 | 344 - 354 | 354 - 364 | 364 - 374
No. of labourers 35 35 17 22 9 14 32 20




Daily wages of 236 labourers (in X) are given below.
" Identify the class interval table for the given histogram and frequency polygon on the same graph.

Y
-100
|
|
----- 90
|
|
----- 80
|
1
----- 70
|
w f
= 60
Sl
s |
| 50
s H
S 40
= [
..... 5
|
|
----- 20
|
|
----- 10
_ X
98.5/208.5|218,5(228.5[238.5248.5[258.5[268.5278.5|288.5[298.5 | ' |
i35 ) e B a2 i e 1 s g 2 s
Daily wage(in R5) e——a—2p
0 Daily wage(in Rs) | 209 - 218 (219 - 228|229 - 238|239 - 248 | 249 - 258 | 259 - 268 [ 269 - 278|279 - 288
|
No. of labourers 19 24 49 33 46 25 26 17
i Da“yr‘{"_ﬁ;ge““ 209 - 218|219 - 228|229 - 238|239 - 248|249 - 258|259 - 268 | 269 - 278|279 - 288
1
No. of labourers 19 24 33 46 46 25 26 17
i Daily wage(in 1209 - 218|219 - 228|229 - 238|239 - 248 | 249 - 258 | 259 - 268 | 269 - 278 | 279 - 288
11
No. of labourers 19 24 46 33 46 25 26 17
(iv) Da"yl‘{’s";ge““ 209 - 218(219 - 228229 - 238|239 - 248|249 - 258 | 259 - 268 | 269 - 278 | 279 - 288
v
No. of labourers 19 24 46 33 51 25 26 17
" Dai'yr‘(‘;?ge(i“ 209 - 218|219 - 228|229 - 238|239 - 248 | 249 - 258 | 259 - 268 | 269 - 278|279 - 288
\"
No. of labourers 19 17 46 33 46 25 26 24




Assignment Key

1) (i) 2) (v) 3) (i) 4) (iii) 5) (iii) 6) (iii)
7) (i) 8) (v) 9) (ii) 10) (v) 11) (iii) 12) (i)
13) (i) 14) (iii) 15) (iv) 16) (i) 17) (i) 18) (iv)
19) (v) 20) (i) 21) (iv) 22) (iii)
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